
 

How to get a quick 1,000,000
e

possible

Ch 7 Sip Solve

3 COLOR G G is graph that can be
3 coloured

ie

red

Blue
B Green

L

Formally G V E wesay C is 3 colourable

if B 8,8 s t edach edge has its

endpoints coloured differently

For 106 Either C Show that 3 COLOR can be
decided in poly time

2 Show that it can't bei

7.1 7.2 Formalise this
f is a Book formula

Really 3 COLOR SAT f that can be satisfied

many more if you can solve of these in poly time

you can solve them all And HP to conceptualize

these problems



Formalize The time that a Turing machine M takes on

input w is the number of steps to reach face or qrej
We say that M runs in time f n where fi IN IN

or 2301730
if on any input w df length n W the Turingmachine
takes time at most fcn

line time algorithm time 0cm RAM
egg.oratic

time algorithms me an
ar.ge I

We say fill IN is 0 gcm for another

gin if for some C and no Avoid

f n E gcn if n no

E g 3h2 2 ht kg n s O cha

3 n 2n 11cg n s 0 Chiao

linear time a 0 n time

quadrate t.me I 0cm time

polynomial time for some KEN nk

p languages decidable in languages decidable in
polynomial time time 06 hk for some KEN

Should be convinced that a lot of practical algorithms
run in poly time But poly t.me can mean



time 10 m2 Cns Cs cold

OO m2
i Manban

Uh oh of m2

But poly time is a reasonable class to consider

0 nooooo maybe I 3 Nooooo

HP Nondeterministic poly time
oR

are interesting



Midterm practice

J for a Turing Machine or DEA

Algorithm Phase 1

Phase 2
EAT

OR state diagram

Tim Q E T Eaa Erej quit w f

T Inf EEE
at least
Eu u3

a b Eskil
e

om

TM

aaabbbwwwwd.tn
Q f QxfxfL r

E
more



a a R can abbreviate a R
a a L a c LAlso a c L abbreviate

3 18 10 8 mod m

x
10 8

simoom 10 18med m

Mostly 3.3 for us G Gsgraph

mga m In wimput


